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QUESTION 1

Mr. James Rossen is just beginning a computer consulting firm and has purchased the following equipment: 

Mr. Rossen is reviewing his finances. What should he write as the total value of the equipment he has purchased so
far? 

A. $3025 

B. $5400 

C. $5525 

D. $6525 

Correct Answer: C 

 

QUESTION 2

Of the 1,125 teachers in a study of bilingual education, 135 speak fluent Spanish. What percentage of the group of
teachers in the study speaks fluent Spanish? 

A. 12 percent 

B. 7.3 percent 

C. 8.3 percent 

D. 9.3 percent 

E. 14 percent 

Correct Answer: A 

 

QUESTION 3

About how many liters of water will a 5-gallon container hold? (1 liter = 1.06 quarts) 

A. 5 

B. 11 

C. 19 

D. 20 

E. 21 

Correct Answer: C 
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QUESTION 4

What was the average (mean) rainfall in February for the three years? 

A. 4 inches 

B. 5 inches 

C. 6 inches 

D. 7 inches 

E. 8 inches 

Correct Answer: C 

 

 

QUESTION 5

Which of these is equivalent to 35C? (F = 9/5 C + 32) 

A. 105 degrees F 

B. 95 degrees F 

C. 63 degrees F 

D. 19 degrees F 

E. 5.4 degrees F 

Correct Answer: B 
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